
L  U t u  U Z U C  h . L

bpLurhlr purqurpunqtururturbb.Olll 6f rlh2tlu\rulq 4qFngr qnUq-b

2015p. t\ur nrurhhplr m burluuhfir

1

2

3

bqUUnI\SLbf tllq pr[nul,

elhuur\urtr quru{tp}rg

.{up&ur\urlntplnrtr}rg

Sfirurtruu.rllurh oqtrnrplnrtr]rg

C\,'IUUbLC bqUUnI\SLbf

II OUtuUbf urlqp{m,

I U2]uurnullurp&]rqbml

2 tlh\nFurttrtnqbulbqhn{

s thnmg urtr qhn{

a 9p nrq-\nlnqnt qhn{

s \:urhubnrplurtrqbnrl
e truq! qhn{ ur14 pr{nul'

6,1 FurdurtrtrF4ur rt qdurF

6,2 Fqtur{durF

z Stlntuur\urtrurqpurtrptrtplrqbnrl

8 Qpuruhtr3ur\urlfhurqpurhphhpf qbn{

9 thrnr-gr-lurhhrur-lu\urpq[uquruurp\rluhqbnrl

10 Ult burluuhplr h'burnurlmplmhhhplr qhnr{

C't 'IUIIbLC OUn Ubf

tunphp4]r trurluurqurh

Shophtr'

e{uul{np hur2rlruqurh

9ntrlurp
./hurq.4putf/

35\33,7

90,0

885,2

35108,9

30989,8

2449,0

,4

62,6

57,6

5,0

100,0

50,0

991,0

1022,4

35108,9

U.faurp{hpqlurtr
/urb.nth, urqqurfuatV

L.9pltqnpluttt
/urhnrL, urqqurhnrtr/

U.2ur\np3urtr
/urb.nrh, urqqurhnrt/

+3



L U n r U l U c h i l .
bpLurhlr pur4urgurqLuurgurL| <f<{n[ 5f rl]r2bullurpq 1q1ug, 4loU{

2015p. 4pur{ur\uh rf}r2ngtrtpb hnuptpb

h/h 2naqubh ul-rqulrnulg
20i4p. dmurptp tr hptp

I -$r \]ruulllurtl 6 ruflru 9 ur [ru Surpt\urh

I
'Ipunfiu\rutr rtlr2nghhfir urquln rlhrugnp+E
hur2r[trnat drurlurhur\ur2rgurh]r u\qpblr 11s4,4 7t54,4 7t54,4 1154,4

II
Ch4urltbp ryunlu{rrh tf}r2rgtrtp}r rlrruptp' urJr}
prluul, 66.27,7 14906,6 23220,6 36108,9

I albuurUlrlb qurlnqhFlrg ffi5,2 14851,6 35133,7

2 qurp{urqurtnpFrbbg 22,5 6,0 90,0

3 $|rhuLuur\urh oqlmrplmhirg 885,2

III
Chqruilthg 4prurftu\urh rlf2nghtplr tptp' ru14
pqDul, 7688,3 16036,2 24375,0 37263,3

ur) Ehpruglr\' ur14 p{nul, 7688,3 15798,7 2X64,9 3s609J
U2luuruuqurFAlr qbnq 5082,0 12705,r 20r95,I 30909,8

2 \t\urpurtLhpqful[ qhn{ 44,1 110,2 176,3 2U,s
3 thnmg urb qbD{ r666,5 rn1,7 7777,7 2489,0

Ag{nq-\n;nqnt qbnr{ 8,9 22,2
5 Uryulutunplurh qhn{ 43,2 u,8 ,4
6 9urq| qbn{, urlq prlnr-rl' 31,3 47,O 62,6

6,1 pudurLop4ur;|rh rldurp t4,4 28,8 43,2 5?,6
6,1 olrulbulqdurF 3,8 5,0
7 Shutuurllub uuururhptrtpb qbn{ 25,0 50,0 75,0 100,0
8 epurutblur\urlfrh urqrurhpLtplr qbn{ 2s,0 50,0
9 thhn$rlutr h ulfur\urpqh uquuurp\riuh qbo{ 247,0 494,O 741,0 991,0

10 \pt4frurnpur\urh qurpurplr rlurpriurh qhnrl 590,0 590,0 590,0 590,0
I 1 3,0 6,5 9,8 13,0

p) lprqllnurl ur14 pdnt , 0,0 710,1 1653,8
I ahdburqurU hgngbtth qhrurturpnqrlurh qbnrl, u44 pllnui 0,0 710,1 1653,8

t , t rltnurtupqruJ 710,1

ry lpudur\urL ut!2nghtpf urqunn dLurgnp4l
hur2rlLurnr- dunlurhru\ur2r2ur$r r[hp g[rh

93,8 24,8 0,0 0,0

tunphp4fr truluuqurh

Shophtr'

U.fau:p{tprgutr
/urlmrh, uqqurhatV

I,.epfqnputr
/urtnth, urqqrulmly'

U.lu\nplurtr
/urtoth, urqqulr.D.rb./


